Name: Date:

HAIRPIECES CROSSWORD

Across 12, This area can be 5. Sheep
4, Piece of hair can be oily,dry,normal and have 8. Narrow rows of
bonded or sewd on diseases visable braids that lies
6. Type of stitch Down close to the scalp.Created
7. Type of Stitch 1. Type of stitch with a three strand
9. Spaces between 2. Small wig used to 11. To much tension on
braigs cover the top and crown the braid the clients real
10. Method of attaching ~ Of the head hair can be damaged and
extensions 3. Tool that is used for recede

sewing
Word Bank
Drawbacks DoubleLock Stitch Wool Toupees
Scalp FushionBonding Cornrow Tracks
Lock Stitch Weft Needle Overcast Stitch

Create your own puzzle at WordMint.com or print one of our 500,000+ pre-made word searches, crosswords, and more.



